Bidder Tabulation - Bid #SA***** - BI***** Purchase of***** - Opened*****										
Bidder Name/Address	Contact Name/#	Local?	Pages 1	Pages 2	Pages 3	Pages 4	Pages 5	Signature	C.C. #	Other
Nationwide Equipment Training, LLC.,										
3688 Airport Blvd #B234, Mobile, AL	Don Childers 951-									
36608	283-1189	Ν								
Performance Training Solutions, LLC,										
7791 Taylor Road S.W. Suite A,	Matt Foor 614-863-									
Reynoldsburg, OH 43068	8830	Υ								
_										

	D: T.	<u> </u>	. I "O V +++++ DI	+++++		
Price Tabulation - Bid #SA**** - BI*****						
				UNIT		
ITEM NO	EST QTY	LINIT	ITEM	PRICE		
			I I LIVI	I NICL		
1	6	2900				
		1				
	_					
	1	 				

				Nationwide	١	Nationwide	Pe	erformance
Item	Est			Equipment	Equip	oment Training	Trair	ning Solutions
No	Quantity	Unit		Training LLC	L	LC Totals		LLC
1	6	EA	three-day classroom training classes/year including certified instructor for NCCCO prep course, large telescopic and/or small telescopic (fixed cab-swing cab), all test zone apparatus and set-up, all curriculum, power point, and textbooks.	\$ 2,900.00	\$	17,400.00	\$	8,950.00
2	6	EA	one-day written exam classes/year including certified instructor for NCCCO prep course, NCCCO written testing with authorized proctor, large telescopic and/or small telescopic (fixed cab-swing cab), all test zone apparatus and set-up, all curriculum, power point, and textbooks	\$ 3,450.00	\$	20,700.00	\$	2,255.00
3	6	EA	one-day practical exam classes/year including certified instructor for NCCCO prep course, NCCCO practical testing with authorized examiner, large telescopic and/or small telescopic (fixed cab-swing cab), all test zone apparatus and set-up, all curriculum, power point, and textbooks.	\$ 1,650.00	\$	9,900.00	\$	800.00
4	5	EA.	Written Retest	\$ 100.00	\$	500.00	\$	95.00
5	5		Practical Retest	\$ 100.00	\$	500.00	\$	80.00
					\$	49,000.00		

-				
Performance Training Solutions LLC Totals				
\$	53,700.00			
Ψ	33,700.00			
\$	13,530.00			
¢				
\$ \$	4,800.00 475.00			
\$	400.00			
Ψ	72,905.00			
	. 2,000.00			